Question Paper and Final Answer Keys for the post of
Draughtsman Gr-lll (E&M)

Written Recruitment Examination for filling up of the post of Draughtsman
Gr-lll (E&M) in APWD was held on 19/02/2023 from 9.30 am to 11.30 am at Port
Blair. The Question Paper and the Final Answer Keys of the written examination
received from the agency engaged for conduct of examination based on the claims &
objections is hereby published.



FINAL ANSWER KEY FOR THE POST OF DRAUGHTSMAN GR.lII (E & M)

SET-A
Correct Correct Correct Correct
Q.No Option Q.No Option Q.No Option Q.No Option

1 B 26 B 51 B 76 C
2 B 27 C 52 C 77 B
3 A 28 C 53 A 78 B
4 A 29 D 54 B 79 D
5 C 30 B 55 D 80 C
6 C 31 A 56 C 81 A
7 A 32 D 57 B 82 A
8 A 33 C 58 D 83 A
9 A 34 C 59 D 84

10 A 35 A 60 D 85

11 C 36 C 61 C 86 C
12 A 37 A 62 D 87 C
13 D 38 D 63 D 88 A
14 D 39 A 64 D 89 D
15 D 40 B 65 A 90 C
16 A 41 A 66 D 91 D
17 B 42 B 67 D 92 C
18 C 43 C 68 B 93 D
19 C 44 C 69 A 94 B
20 A 45 A 70 C 95 D
21 A 46 C 71 C 96 C
22 A 47 B 72 B 97 D
23 A 48 C 73 A 98 A
24 A 49 A 74 C 99 C
25 A 50 A 75 A 100 C

Note: Q. No. 84 & 85 are treated as Null & Void due to Error in the Question/Option, hence

evaluation of OMR is done out of 98 Questions



Andaman Pablic Work i’)e_p:art&mm'
Trade - DM (MEFE) Group - A
Al question is carrying equal marks. Only one answer is correct, Time : 2.0 hours

1. When creating an someiric drawing in Auto-CAD the drafler can utllize the Dynamic Input
and Polar Coordinate systemt to place beth vertical and horizontal lines. A ¥ine created from

pme polut 3 inches st 180 degrecs would e Hae { }
A, Eowizontal B, Vertical

C. Inclined £ Mene of these

2. In 1.8, structural and architecturas! deafting, all dimensions of this length are wsually
expressed in feet and inches: { ¥
A. {ne inch or over B. One oot or over

. One vard or over 13 Omne vod or over

3. Inserting blocks inte a drawiag file usually requires exacting placement. The drafter should
fnswee that __isturned on, : { 3
A, O Snaps B, Ortho . Cind 2. Dynamie Input

4. The maximuam and minimum sizes of o feature ave entified bys . _tolevance.

A, i'_,imits B, ODET C. Reference . Allowance )

5. Welding drawings are a special type of this kind of drawing:

A. Symbol B. Perspective . Axsembly D, lsometric { J

6. PDM is the acronymn for?

A, Project drawing management B. Product drawing manipulation

. Product data manageent 3. Peoject data manipulation { )

7. Drafters should use n in a section view of 2 mochanical part that includes the

cylindrical view of a threaded hole.

A, Center line B. Hatch Iime . Poly e 3, Dimension line  ( )

f. In order to creste an accurste assembly drawing the drafter shonid create the -
drewings frst,
A, Detail B, Title block . Paris bist 13, Isometric o 3

¢, When filling an arex with 2 hatch patiern in Aute-CAD the drafier needs to be able te

A. See the entire bounding area (o hatch B, Set Ortho on ()

C. Turn 1SO grid off . Set the laver to Defpoints

19 Understanding the Cartesian coordinate sys's:é:m will help the beginning drafter .. y

A, Control the avcuracy of the drawing H. PFroduce a visible grid system { 3}

2 delect a different iext style I3, Chonse vanious line types

1%, This is # thin solid line directing attention to a note or dimension and starting with an

arrowhead or dod:

A, Dimension ine B Extension line C. Leader 1. Specification { j




12. The size of a shaper is given by

A Lengih of stroke B} Muotor power { 3
{7y Mass of mackhne £3) Height of machine '"

13 Under which type of the {ollowing fire, metsl shounld be meluded?

A} Class -A 13) Class -B ) Clags -C ) Class -1 { 3
14 tn which of the following type of projection, pue plane can make any angle from horizontal
plane?

A} Isometric projection 1) Orthographic projection { }
£) Oblique projechion ) Perspective projestion

15 Which of the following is not a i¥pe of assembly drawing ¥

A) General assembly drawing B) Linit assembly drawing { }
C) Design assernbly drawing 13} Unipstaliation assembly drawing T
16, When one shjset is syrmmetrical, it is mol necessary p ereate a vomplete sectional view,
what type of sectional view is appropriate in this shigation?

A) Half sectional view R} Continuous sechion { 3
€} Removed section D2} Broken out section
17, What is the main objective of the 58 concept?

Ay Te reduge the wastage of money

B To ingrease the productivity while seducing the wastage of meney
0} To reduce the wastage of money and investment

1) To reduce the wistage of money and tne

18. Height of letter of prain title is kept -

A2 wo 4 £B) 4 to 6 mm Ci 6o 8 mam 3y 1 to 12 mm { 3

1%, } The pictars shows 8 symbol, what type of syinbol is this 7

B) Dwmond kourling on straft

Ly Straight keatling on shall

3 Square on shalt 1 Thread on shalt .

20. Symbel for roughness grades N11 and N1# i

— A,
a Y VOV ¢

O VK?‘F\JZ ), R

11 . Which ene of the following is rot an angle measuriag device? { 3

AY Angle ron B) Bevel Protector 2} Sine bar 3 Combinstion set



22 ¥ hich of the following clearance fif comes under Hole Basis System?

Ay 20H gt 1By 2087/p6 {3y 20M74211 ) JO0ER/gH
&3, Wideh of the following commmands is used to create a rectangle? { K
A) Line By Circle %y Ellipse " Arc

24. Identify the front view of sometrie view given below?

¢ )
A}
<3 3
25, Which of the following is a type of clearance fit? { )
A} Siide fit B) Force fit Cy Push fit £3) Tight fit
26. What iz showsn in thin lines on structurs part given in the picture?

{3
A} {ron metal £} Hatching
0} Broken part I3} Hollow part,
7. The picture shows a symbol, what type of symbol iy this ?

{3

A} Surface is considerable for machining B} Metal layer wiil be removed by machining

£ Metal laver removal is not possible D>} 1t §s for speciad surface specification

28, What is the Tul form of B.LS of standardization in enghneering drawing

A} Bureay of Indian security B} Rritish Indisn Standards { 3

Y Bureau of Indian Standards m Bureau of International Standards



29, jdentify the rivet as shown fex figmye — { }

-

?u@wwwmewaawawwamwmmwmw e

ez

A) A simple rivet ) Counter sunk rivet from back side

CyCounter sunk rivet from front side £y} Counter sunk cived from both fromt side & bac i side
30, What is the color code {or petal waste bin?

(A} Blue (B} Red ()
{} Yellow () Gyeen

11, As per indian Giandards, size of D3 drawing heard Is

A) 508 x 350 % 15 nom £y 760 x 550 % 13 mum

{

C) 1000 < T80 % 25 mm 1) 1500 x 1060 x 25 maim
.32, A mini drafier serves ihe purpose of all these, ERCept e { 3
AY Seates 8) Set sguares ) Protrastor 0y Cornpass

33, A sphere can be deseribed in how many vigws? _ { )
A) Four B) Three €3 One 1y Two 4
34, The ﬂepﬂi of a feature can be gimensioned in { }
A} Front view 13} Top view

C} fBoth top view and side view 13y Side view

a4, How many uniis 4r¢ available in AuteCAD?

A3 By 4 Y3 D2 { }
3, Which flat pelt drive system has two pulieys mounted o driven shafl and one puliey

on driviag shaft? {3

A) Cone pulley drive ) Mubtiplo belt drive

') Fast and 0ose pulley drive D) Jokey pulley drive

37, kn aligned system of dimensioning, the imensions may bevead frowe____ >

A&) Bottom o right-hand edges 1) Botlom of leR-hand edges | { j

€3 Only from bottem ) Owly from left sidde

38, When two prisms intersect at right angle, the curve of intersection is { )

A) Cireular are B) Hiliptical arc {3 Curved lise Dy Straight Hne

30, Which type af coupiing is used for conneeting shafts whose a%es are paraiiel bat not
¢ )
03y None of thess,

in one Ene?
Ay (Hdhaem 3 coupling ) U piversal coupling ) Flange coupiing



45, Oue critical issue, drafters need o pay close attention te s the { )

A) Size of the sheet  B) Designers intent () Scalg factor 1) Mone of these

41. Which type of wiring gives more mechanical and fire protection? { 3
AYs Cashing capping winng B) Batier wiring

CY Conduit wirkng I3 Clest wiring

4%, Read the below Electrical Sigas or Symbals, { }
-

N

|

A) Socket 2 pin, 3 pin 8) Ceiling Rose Z-pis, 3-pin - C) Two-way switeh 0} Lamp
43, Read the below Blectrical Signs or Symbels. { }

A) Diode B) Photo diode ) Light emitting dinde (LEL) ) Amphifier

44. Read the below Electrical Sigas or Bymbals.

AT 5

¢ )
A) DIAC By SCR 3 TRIAC D) FET
45, Which of the following conveution is used for Aluwmbnium? { }
@ P o) o o “’ Yy
.'p/j"f/' /‘fl’ o /: P
i
i _\/;% e
46. The areas of the two suceessive sizes of drawing sheet are intheratio . { 3
Ay b5 B} L4 Cy 12 ) 110 S
£7. What is the expansion of ARC in first aid treatment? { 3
A Y Alrway Bleeding Cirenlation B} Airway Breathing Cheolation
) Airway Breathing Carsfulness £ 3 Accident Breathing Carelulnoess

48. What will happen to the vaine of earth resistance, if length of the earth pipe is increased?

A YReomain same B ) Incregses {2 Decreanes Dy mfinity { 3



PN
e

4%, Where the variable sir capacitors are psed? |

A} Radio receivers B ) Gseillators C YAmplifiers D) RF filters

5. What is the name of property that the finx densify always lngging bebind the magnetising

foree? { 3

A YHysteresis B} Magnetic intensityC ) Magnetic induction [ ) Residual magnetism
&1, Which effect is produced, if the current is passed through & conductor? { }
Ay Thermat effest B ) Magpetic effect ) Chemical effect 13 Blecuostatic efx'éc;t
%7 'What is the goal of the oecupational health safety? { )

A3 To maintain discipling 11} To co-operate with co-workers

€3 To provide a safe work env ironment 4} To keep the waork place noat and clean

<3, What is the condition, if zeve corvent is Bowing through the galvanameter in Wheat stoge

bridge? { )
A} Balanced 13 ) Unbalanced ) Short-circuiied 13} Open circuited
§4. What is vait of inductance? { }
Ay Weber B} Henry () Amnpere turns Dy wh/mi ‘
5%, What is the output veltage of Hthivm eeli? { | 3
LR VALY O OBMSY CyLBY M25V

56, Shat §s the effect if one cell is connected with reverse potarity in a paraliel combination
eiresit? {
A3 Voltage becoms zero B) Become open circuit

7y Will get shor cirowited £9) No affect will fupction normally

%7, What is the owtcome at the positive plate, afler the chemical reaction in Jead acid batiery
during charging? { )
A Sponge lead(Fb} B) Lead peroxide(PbOd)
‘C 3 Load sulphate{Pb504} D3 Lead suiphate + water

5%, How the condult pipes are specified? {
A} Lenpth in metre ) Wall thickness in mm

O Inner dismeter in mim 3} Outer dismeter

%% What iy the effect of Jow current rated cable used to comneet higher cuyrent lead?

A} Voltage drop increases B) Load corrent (nCreasss { 1
Cy Voltage drop decreases 1 Cable damage due to heat

&0, Caloulate the voltage regulntion in percentage of the transformer if the no load voltags is

240 volt and full load voltage is 226 voli ? { 3
A} 1.2 % BY8.32 % 3871 % DY9.08 %
&1, What is the purpese of providing explosion vent i & power transformer? ( )

&3 Alr relensing B) Heat releasing ) Prossurs releasing ) Moisture releasing



62, What is the function of stirrer motor in mivre wave oven? { )

A} Braws cooling alr inside Y Spreads the beat uniformnly

{7} Exhausts the hot air outside 1) Revolves and reflects the clectromagnetic enerpy

63, Which ervor if the caergy moter dise rotatiog continuously on no lead? { }
A} Bpeed oryor B} Phase crror ) Friction oreor L) Creeping error

64, Which is the semiconductor material? { }
A Eureka & Ebonite { Manganin I3 Germanium

65 . The basic function of & clrouit breaker is to { 3
{A) extinguish the arc {13} omze the surrounding air

{C) trAnsmit voitage by arcing (DB} produce the arc

66, What is the parpose of back vp protection? { 3
A} To increase the speed B} To increase the reach

) To leave no blind spot | I3 To guard against failure of primary

&7, Which is the instrument ased to draw paralic Bnes fast? { )
A} Set sguare B} Ruler seale C} Protractor Y Roll-n-draw ruler |
68, The side opposite to right angle in Right angled triangle Is called . { 3
A) Adiusant side B} Hyputermse C) Opposite side 1 Line ' B
69. The swm of the jnterier angle and the corresponding external angle $s { }
A} 18g° By 90° ) 366° ) 120°

78, Which of the {oliowing is MO'T moain types of enginecring drawing? { 3
A) Mechamsal engineering drawings B} Electrical Engineering drawings o
Cy Alr engineering drawings Dy Ciwil Bngineering drawings E

T1. S cale of an instrument will be uniform if R S
A. Defleciing torque varies divectly as the deflection angle C
B. Control torque varies directly as the deflection angle

€. Both {8} and (b}

B Damping torque varies directly as the deflection angle

72. Whick of the following is the mest pepular method for messuring low resistance? ( )

A) ducter olumneter method B} kelvin double bridge method
3 ammter-voltmeter method I8 potentiometer mothod
73. Range of an elecirical instrument depends on " { 3

A} twrent B} voltage ) power I3} resistance Ry



74, Tu which method of srthographic projestion the object is placed below B, and behind

v.pr

(A} 1st angle projection (B} 2nd angle projection { _}
{(€) 3rd sngle projection (1) 4th angle projection

@8 What are the three prineipal planes tn erthographic projection? { 3
{AY Frontal, hori zontal, profile (B} Back, tog, profile

{C) Top, front, right side {13 Front, Top, profile

6. Which amoug the follewing iz a fype of direct measuring instrument of roughness?

{A) Micro interferometer (B Migro moler { 4

{C} Profitometer {0 Surface dynasmomsier

“wm PR thickness/radiug of sheet metaliwire is indicated by a series of number,which is called

8%
{A) Number sizg {B) Gange { 3
{C) Standard sz (133 Mone of the abuve

98, Which view in general is used to create a8 Bew drawing view which s endarged portien of

existing view? { ;
{A) Nameod view {B} Three view (T Sectional view {0} Detail view
0, How the visibility of Isometric views are drawn by? A 3
{43 Full scale (BY Enlarged scale  {C) True soale {£3) True length
.86, When 3 square surface is pavallel to the plane of projection, the resaiting projection will be
{A) Steaight line (B True fongth of edpe { 3
() True shape of the surface {1¥) Reduced shape of the surface

21, AGMSY, CIOUA, BRQW, 7, JOUAG, KOWCE { 3
(A (GMEYE {RB) FMEYE (Cy GNSYD {E) FMYES

87 M is the son of . Q@ is the granddaughter of O, who is the hushand of 7. How s M related to O7
{A) Son {B) Dlaughter fCy Mother (1) Father { 3
83, If '<* means "addition’ - means 'division', " means wubtraction’ and ' means ‘multiplication’,
then which of the following equations is correct! { )
(AYI6+5-10x4+3=9 (B} 16-5x 10+ 4+ 3~ 12

(Y I6+ S+ k43w {16 %5+ 10+4- 3= §9

¢

R4, . Writer » Pen 2 2 7

(A) Needle  {B) Artist Taitor Brush (O Paimer (D) Teacher @ Canvas Class



85, Statement- “Buy pure and naturasd O of company HOL” - An ad. in 3 newspaper. { 3
Assitnptions- L People do not mind paying mere for pure and natural otl.
1. Artificial oil can be prepared,
A. If ondy assumption 1 is Imphoit
B, if only sssumption I & Implicit
C. Ifeither T or H is Implicst
53, i neither § nor 1 s Tmplicit
E. If both | and Il are implicit
6. Statements: ARl pu rses sre mobile. All mobile are phones. Seme mobile are rings. Mo ving is
purse. Which Conclusion i right? ( )
{a}ﬁ Some purse is ving. (b} Mo mohile is ring.

{} Some phones are purse, () All rings are mobile,

87, A man starts walking towards Nertheast diagonally from the left corner of a square plot
and taruas right after reaching the contre of the plot. Afier some distance, bhe again turns right

snd continues walling, Which dircction is he facing now? { Y
{a) Dast {b} West {¢} Bouth (e} North
38, Which of the folowing is the branch of Artificial Intelligence? ( 3
a} Machine Learmning b} Cyber forensics
¢} Full-Stack Developer &) Network Pesign
8§69, Which of the following machine requives input from the humans but can inteypret the
putputs themselves? { )
2} Actuastors by Sensor o} Agonts d) Al system
90 . Apnimitra was the hern of Kalidass’s play { )
(A} Raghu vamsam ' {B) Mega Dlugam
{C) Malavikagnimifram (D3} Sakunthalam

£ )

91. The baly book of the Sikhsis

{A} MWighabhuratham (1) Ramayenam {Cy Gita {13} Girangh Sahib
9%, The Indus Valley, civilization bad sverseas trade contacts with { }
{A) BEgypt (B Spuin {C) China {171 Russia

83, Van Mahotsav incindes

a} Planting and protecting trees b} Destruction of trees should be curtaited

) Restoration of green cover i Adl the above

94, Public heakih depensds on sufficient amounts of goad guality safe drinking ___and

¢ )

adeguate

{A) Waicr, food and shelter (B) Food, Water and Shelter

{0} Shelter, food and water {13} Watcr, shehter and food



95, Soif poliution can be controlied by { )
a} Reducing. rensing and recycling of wasies
b Production of Biogas from agvicuwhiure wasies and animal vefuse

¢y Conducting AWRFONCRS PrOFranume i propagate prganic farming

d} All the above
86, Which of the following type of computer i3 mostly used for automatic operations?
a) anslog b) digitat o) hybrid 4} remote { 3
&7, Which of the following bs the first neural setw ark computer? { y
ay AN by aM ' o) RFD d) SNARLC -‘
9% Wihich of the following package allows individuals to use gersonal compaters for storing
and retrieving their personal information M { }
a) Personal assistance package b} Graphics package

"¢} Spreadsheet package " i) Animation package
99, Wha smaeng the following was the president of the Constituent Assenliy 7 { )]
A) Lal Babadur Shasiri 83 Dr. BR. Ambedkar
(3 Dr. Rajendra Prasad DYy P, Upendra
184, The Creamy Layer, concept vefers 39 { )

A) The prouping based oo social stanas

1) The grouping based on 0astes

) The grouping based op econom fo status
19} The grouping based on milk conswmption
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